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SIFCEAT &Y — DRAUGHTSMAN B
Tt shror 3 foper fire 87

How much minutes is a degree angle?
(@ 180 (b) 360 () 90 d 60

ﬁﬁﬁ?@ﬁaa%ﬁmﬂﬁvﬁ%%ﬁnﬁﬁmﬁaﬁ%@aw%WWm%
Ratio of the total sum of angles of a triangle to the total sum of angles of a square is?
@ 2 () 0.5 () 4 @ 3/4

IR 4X +2Y =10 3R X =-Y R, & X3k yard?
If 4X +2Y =10 and X =-Y, whatis X and ¥ ?

(@) 53M-5/5and -5 (b) -53M5/-5and5
() 43M2/4and2 (d 23RK-2/2and-2

A v 7 B R 9 3 3 Qher o iy 1 T w87

If r is circle radius then what is the ratio of area to perimeter of the circle
(a 12 (b 2r ) riz (d) zlr

Bt v & oo & fq uffr s 27

For a semi-circle of radius r, what is the perimeter?
(@ 2 (b) (#+2)x € @+« (d) mw+r

40 diex it Wt = 20 et ST et forstett 3 @ ot = & e ior e R R, s o e e
SRV T YefT SRTIST?

A rope of length 40 m is tied at an angle to the top of electric post of 20 m height, find the angle of
rope with respect to ground?

(@ 30° (b) 45° () 90° @ o°
FSIHT 3R AR AT S.1, sehreat oo §7

S.L units of mass and weight are?

() Kg3RN /KgandN (b) N3iRkg /Nandkg

(c) Kg3RPa/KgandPa (d) N=3RPa /NandPa

[ RN o % | 10 dehs 7 180 .7, /et aeh wge At HATErwIETSe h for eereor oY aTorm he?
Compute acceleration for an automobile reaching 180 km/h in 10 sec with no initial velocity?

(@ 5m/s (b) 300 m/s? () 18m/s? (d  0.005 m/s?
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10.

11.

12.

13.

14.

15.

Terepicl <1 gohrs T RY

What is the unit of strain?
(a) MPa (b) N/mm
(¢) mm (d) SHEAARETE / None of the above

Teh ST hl G Ul 38 T8 37 T forams 3 wrer 36 3 | <t 39 e ! 91d |

The combined product of a number with its one half and one third is 36, find the number?

(@ 36 (b 6

() 216 (d) 3SuIHFARETE / None of the above
5716 wma feft & fopam 27

5z /6 measures how much in degrees?

(@) 150° (b) 200° () 300° @ 75°

T e I TH-rs i T @, W-TegE ad A MR @A e fFn 21 gk su w160 m ¥,
A 2Ter it et g A BNA?

A tower is painted 1/4™ as blue, 1/3™ as red and remaining as green. If green color is 60 m, what is
the total height of the tower?

(@ 120m (b) 144m () 100m @ 225m

fE e TR hT &A% 11 cm? B ST ST oh1 T TYE AR 1 g H 10 em FH R | T 39 TR < aRfr g
ST |

If area of rectangle is 11 cm?® and one side of rectangle is 10 cm lesser than the other one. Find the
perimeter of such rectangle?

(@ 110cm (b) lilcm (c) 24cm (d) 12 cm

afe 50 kg ST % TR T F1E ht TMIARG F & T 3A1avae 5a 100 N R, <t =r€or 3 7ories <Y
RIS (AFAA R : g = 10 m/s2)|

If the force required to just move an industrial sliding cart of mass 50 kg is 100 N, then calculate
coefficient of friction (Assume: g = 10 m/s%)?

@ 0.1 (b) 02 () 03 @ 04

71§91 42000 W sht 31eh <7 ohtam & A Tk v 10 H. /. % 977§ Ser @ | G 5o 3h T0ET e |

A car is moving with a velocity of 10 m/s when engine produces power of 42000 W. Calculate the
pushing force?

(@) 420N (b) 4200N (6) 420000N (d) 42N
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16.

j Lo

18.

19.

20.

21.

22.

T 1 R AP T e § 120 J B @ aefia K ok &t omm Rt |

Work output of a machine is 120 J in a minute. Calculate the power of machine?
(@ 2W (b) 120W (c) 20W @ 7200w

TR A v 7o A H FoTme m oY et sreq @ R vt 9 T 19T ST Gehal B

The work done on an object of mass m moved from rest to a velocity v can be represented as?
(@ mv (b) 12.mv?
(© mv? (d) SHHEHIFREAE / None of the above

Freferfiaa & & 9 a1 U die-geehia gare 87

Which amongst the following is a ferromagnetic material?

(a) @& /Iron (b) et /Nickel

() e / Cobalt (d) Swgwaft/ All of the above
Frafefaa 3 & i ercafies damor gl 37

Which of the following is highly corrosion resistant?

() ST /Zinc (b) e /Iron

(c) e / Copper (d) UegHFEm / Aluminum

18/8 ST TETa w27

What is 18/8 stainless steel?

(a) 18% wift=m, 8% bt / 18% Chromium, 8% Nickel
(b) 18% fiea, 8% shiffram / 18% Nickel, 8% Chromium
(©) 18% direl, 8% HHIS / 18% Iron, 8% manganese

(d) SuEwEHAAFETE / None of the above

T 15 20 m F=rg & RS St R, TocameRdor wRoT Y 10 m/s? TR S ¥ S W SRR ¥ A 6

T Y

A ball is released from 20 m height, compute the velocity of ball at which it will hit the ground

assuming acceleration due to gravity as 10 m/s??

(& 20m/s (b) 10m/s (c) 200m/s (d 2m/s

e Ty et g sesh dien iR e 2

Alloy with main constituent as copper and zinc is

(a) didd /brass (b) =@ /bronze

(c) =IMA / Duralumin (d) 3SIHAGFIETET / None of the above
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23.

24.

25.

26.

217.

28.

g FEIT S Heg R A A ad|

Mild steel belongs to which out of the following

(a) e gEIE / Low carbon steel (b) U= HEA 3E9@ / Medium carbon steel
(c) S=awEAgEE / High carbon steel d 3w T3 Tel / None of the above

Ff o 7 iy o R0 T AR i Tedt Was w9 H b 8, q e et gl
If an iron bar expands freely due to rise in temperature, then it will develop

(a) ufaufasa / Thermal stress (b) YRS / Tensile stress

() =R ufiea=l / No stress (d) udteTufae@ / Compressive stress

e Tire 1 S ol ST Geh et StfRreRam forpfr St HEArd

The maximum strain energy that can be stored in a body is known as
(@) e FTAMS / Modulus of resilience

(b) Hgeal Toughness
(¢) <=aA / Resilience

(d) Y® = / Proof resilience

7 feig foresh wem & YRR 1 et ISt 1l a1 8

The point through which the total weight of the body acts is?

(a) s /Centroid (b) TEEHE / Center of gravity
(c) #&fg / Central point (d) Srecd™ g / Inertial point

Y% % 7 3N A % ST 6 THATHR Tk GHI iV SHIA §E T T o A1 Th Vi i HlEHT i€ @S T
foer ST 27

Which section is obtained by cutting a cone with a plane making the same angle with the axis of
cone as made by a slant line and is parallel to slant of the cone.

(a) <99 /Ellipse (b) eIfdwae™ / Hyperbola
(c) W& /Parabola (d g9/ Circle

ST T Sl g S TS 9T 39 S%g SRt ST % ST 1 U, W Ml oS Uh & 36 4 St} A
Fed 8

The ratio of the length in the drawing to its corresponding length of an object, when both the
lengths are in the same unit is called.

(a) %hat Hawe / Scale fraction

(b) T HawH/ Representative Fraction
(c) fTreswm %awH / Reduction fraction

(d) . =fRkRaFeE / Comparative fraction
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29.

30.

31.

32.

33.

34.

ot o fermman e &9 vt ggiar e

Hatch symbol as shown in the figure represents

(a) IFEEE / Aluminum (b) =S /Rubber

(c) E s / White metal (d) =@ / Steel

U I ¥ite o <t wefiver areat o st o e &

The ratio between two adjacent sides of a drawing sheet is

(@ 1:2 (b) 1:25 © 1:42 d 1:43

=it T Serg g€ T 3 2l

Included angle of BSW thread is

(a) 60° (b) 55° () 47.5° (d) 29°
mﬁq%m%w,%ﬁéﬁaiﬁ-ﬁaﬁqﬁmﬁa H

By Unwin’s formula, double riveted zig-zag type lap joint transverse pitch is

(@ 24 (b) 2p © @p+d)/3 (@) 2p+d)/2

ﬁﬁawmmmmﬁsﬁ@%mmm%maﬁﬂ%ﬁtﬁ%%%ﬂi‘ﬁaﬁﬁéﬁ?

Which coupling is used for connecting shafts whose axes are parallel but not aligned?
(a) T=ZWA /Flexible coupling

(b) =EFHT / Claw coupling

(c) ﬁmw / Oldham’s coupling

(d) #EIHT / Muff coupling

QP25 HT/n6 Tora TR % e s wiiffires s 27
What type of fit does the term, ¢25H7/n6 represents?

(a) Faue fe / Clearance fit

(b) =afceRoT e / Interference fit
(c) wFAUTHE / Transition fit
(d) SwfwEHARETE / None of these
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35.

36.

3.

38.

39.

40.

et o R

Representation of third angle projection is
o @]

o @

o 5O

o 13

BIS ¥ 31ga, @ ¢ wefish o fore pm  wde geeus W &

According to BIS, surface roughness range in pm for symbol shown is

_
(@ 0.0580.1 /0.05t00.1 (b) 02808 /0.2t00.8
() 3.2¥63/32t06.3 (d) 12.5%25/12.5t025

Tyl (O) form veorm i sanfircfia afesopar =i e 27
What type of geometrical tolerance does this symbol (©) represents?

(@) w@ER / Cylindricity (b) TS /roundness
(c) weEhaa / Coaxiality () 3 / Circularity
T <hIvT JEIT T%g § : 2

In first angle projection object is

(@ HP$FRR VP %1/ Above HP and in front of VP
(b) HP &= 3R VP % °m+ /Below HP and in front of VP
(c) HPFFWAR VP FUS / Above HP and behind of VP

(d) HP &3 VP &9id / Below HP and behind of VP

T A T@r PQ ¥ o, P72, R et Q, HP ¥ 1 A7, I P 3R Q v i hr gt 8 A.afl. © 1 1w
PQ i arfere wiems F 7

For a straight line PQ, P is 7cm and Q is 1cm above HP the distance between projector of P & Q is
8cm. what is the true length of line PQ?

(@ 8 (b) 10 (c) 14 d 15
waysta fsm % foha was 87

Heptagonal prism has how many faces?

@@ 6 ) 7 (0 8 @ 9
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41.

42.

43.

44,

45.

46.

47.

1:1:0.5 3 S7gara & weirs, s 3t <hers arer agor 2
The projection having length, height & width in the ratio 1:1:0.5 is

(a) %R / Cavalier () 3 / Cabinet

(c) UHUfFT / Perspective (d)  HAT™EfE® / Orthographic

STTTERTE 31 Tierehr e 3 fopeft s aregadl < o wfdrell 6 R s e 2

Command used for multiple copies of an object or objects in rectangular or circular pattern

(a) ufd /Copy (b) @ /Array

(c) SHwR /Offset (d T /Mirror

FAYR T YL feargg ®

Input device of computer is

(a) ®HeX / Monitor (b) Fsfueat /Keyboard

(c) T / Printer (d) 9SFR / Projector
ierhe B, |y 371 /31 ¥ g FTeash Shofl 1 I R ST R |
In AutoCAD, functional key used for Snap ON/OFF

(@ F3 (b) F5 (c) F7 d F9
S F 45 % 192 ¥ T e doe s 2

Text command used for input of $45 in AutoCAD is?

(@) %%d45 (b) %%c45 ()  %%p45 (d  %%r45
F T aRH, ﬁm&waﬁm%?

In CAD tool bar, what does this symbol & represents?

(@) = /Copy (b) HT /Offset

() W/ Array (d) e /Scale

T afee % forg 3w Y s areh 19 frefiea 3 @ S 7
Which of the following are the gases used for gas welding?

(a) teEfis 3R Tfeef / Oxygen and Acetylene
(b) TGS IR ATEISA / Hydrogen and Nitrogen
() Teefis 3R T¥EISH / Oxygen and Hydrogen
(d) ufufef sisdNT / Acetylene and Nitrogen
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48.

49.

51.

52.

53.

Freafafiaa 8 & i i T yer it sreurh weefi fafr 27
Which amongst the following is a type of temporary fastening method?

(a) ®ies / Soldering (b) deed /Welding

() HIEARA / Cotter & key (d) T@fEm /Riveting

A3 fte 1 Sahd B

Area of A3 sheet

(a) 0.0625 m* (b) 0.25m? () 0.125m? (d  0.03125 m?
T o foha 1S BIS YorTeil A AIS[E 5 ¢

How many grades of tolerance are present in BIS system?

@ 12 (b) 14 © 16 @ 18

Ra 3.2pm =1 ®&d1 A 8 Se7a1 I 661 & A @rar 2 ?
Roughness value of Ra 3.2um corresponds to what roughness grade number

(a) N4 (b) N6 (c) N8 d NI0

quiie e o ® Hag sH1ae s Wi ‘o’ Fqunar 8
What does surface texture symbol ‘e’ represents in the figure shown?

b
a/ c(f)
e\/d
(a) ®&@aTAA /Roughness value (b) < ITEM / Direction of lay
(c) wEiTge / Machining allowance (d) @R / Production method

ot i frame et s R ———/— Ty ?

What does the type of Line shown ——-/L——/l/— represent?

(a) WeREag@ /Cutting plane line

(b) e s @ / Short break line
(c) wFs® @ / Long break line
(d) TvrIE @ / Hidden line

10
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54.

ot

56.

7.

58.

59.

Remmrsdmar Kzt

What does the Symbol shown X represent?

(a) TR 3e= /Stitch weld (b) wiedws /Spot weld

(¢) wW3eE /Flash weld (d HM3aTe /Seam weld
9 3e e s e s = &

Rivet head diameter of snap head rivet

(@ 1l.6d (b) 1.5d (¢) 1.75d (d) 2d
=1 9 it v Y |

Identify the different screw?
(@) wEHITIS 9T / Hex. head screw

(b) =NERS I / Square head screw
(c) <3 YS / Cheese head screw
(d) 9= / Grub screw

T ISt T 39T & for e smar 3 |

Allen keys are used for

(a) =FRBEHE / Square head bolt

(b) wHTIE Siee / Hex. head bolt
(c) W HRRE BS B / Hex.socket head screw
(d) =fSTeS®H/ Cheese head screw

T RIS T 6 mm =1 % 12 @9 56 % 315 PCD 75 mm & | 3 3= TS5 o e st apvor e 7

PCD of 12 nos. dia 6 equispaced holes on a flange is 75 mm, what is the angle between two
adjacent holes

(@ 30° (b) 45° () 60° (d  20°

20 .. ared it 70 Rr.of. s w1 Ot o ifcrer e e R R, forewr % et & o oEr |

A square prism of side 20 mm and height 70 mm resting on a horizontal plane, calculate the total
area of development

(a) 6400 mm’ (b) 5600 mm? () 6000mm> (d) 5800 mm?
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60.

61.

62.

63.

64.

o9 W & 92 o e 1.25 i ], wp ds Fefie i mmr o |

The pitch of double start screw thread is 1.25mm, calculate the lead of the screw thread.

(@ 1.25 (b) 25

() 225 (d) 3w S 81/ None of the above
EIMIIEIDRE EGCIGAERIE G

The washer is generally specified by its

(a) «rEG =™ / Outer diameter (b) Be=a®| /Hole diameter

(c) g/ Thickness (d) 3igd =8/ Mean diameter

I wlafifRi e 20 R, A 10 8., <ht adfaen <iems aret Y@ o o1t 7€ wer et
If the representative factor is 20, the measured length of a line having a true length of 10 cm

(@) 284 /2cm (b) 200@.1. /200cm
() 20¥.1./20cm (d 24./2m
==t <t 3R H YRR STRITH o WK i UEEITT |

Identify the type of dimensioning used in the below figure

10|

15
25

(a) ¥AFIG A / Parallel dimensioning  (b) %@l ™M / Chain dimensioning
(c) @iRaayomet / Aligned system (d) Tafre yumeft / Unidirectional system

T W Ut o¢ R R site 3 g, sief 7 wie < wierd ®, Ru e ) dier w1 wdifere 93 3

For an ordinary single butt strap rivet joint, where ‘t’ is the thickness of plate, the thickness of strap
plate is given by the empirical formula

(@) 0.6t (b) 1.125t () It @d 06tolt

12 709 (DM)



65.

66.

67.

68.

69.

<z Tar siga fafty &1 3 S i % fore R s 2 |

Centre line average method is used for expressing

(a) g ®&rdl/ Surface roughness (b) Tewsfraweaan / Bilateral tolerance

(c) @mdern / Flatness (d) SYwEHISETE / None of the above

M12X1.5 % Teh siiee ol ddeis & T35,
A bolt of M12X1.5 means that,
(a) diee o = 12 8 ol e 1.5 it &

Nominal diameter of bolt is 12 cm and pitch is 1.5 cm
(b) e s vt s 12 4f ofk R 1.5 3t 2

Effective diameter of bolt is 12 cm and pitch is 1.5 cm
(c) ditee s am = 12 firdt i i 1.5 ot @

Nominal diameter of bolt is 12 mm and pitch is 1.5 mm

(d) ditee &yt s 12 i ofie iy 1.5 fnf 2

Effective diameter of bolt is 12 mm and pitch is 1.5 mm

i fosm sorredt 3 srgem fremarer wril & smm Fremger s -

The dimensions of the mating parts, according to basic hole system, are given as follows :

&% /Hole 35.00 mm W /Shaft  34.97mm

35.02mm 34.95mm
SAfrepan BT feufa o =g deeht seliie o o
Calculate the diametrical clearance in maximum material condition

(a) 0.07mm (b) 0.03mm (¢ 0.05mm (d  0.02mm

afee ag v 37

Babbit metal is a ?

(a) &7 amurfa fiw-ang / Tin based alloy (b))  ore s f%-41g / Lead based alloy
(c) fomr-smenf@ fis-a1g / Zine based alloy (d) — siq-fw fimr-u1g / Copper-tin alloy

oo & & i & der dr B el & forereft eiereor 3 forg wrerd wogen 3

Which of the following screw thread is best suited for power transmission in either direction
(a) =R 4™ / Square threads (b) =™ unY/ Buttress threads

(c) wfceas g™ / Multiple threads (d)  V-9m@ / V- threads
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70.

71.

72,

73.

74.

T

T4 T @1 VP & GHMIGE 3T HP & wiserd 8id] 8, B9 39eh! T SelTs I ol Tohd &

When a line is parallel to VP and Perpendicular to HP, we can get its true length in the
(a) ey front view (b) @IS /side view
(¢) (a) 3 (b)EFT /both (a) and (b) (d) @/ top view

Freaferfea & @ feraehl TRt (Schsar) T At 27

Which of the following has an eccentricity more than unity

(a) YE@ST /Parabola (b) ifdwE™ /Hyperbola
(¢) T4/Circle (d) i/ Ellipse
et % T <l wHiE LR

Density of aluminum is in the range of

(@ 2000-3000 kg/m’ (b) 20-30 g/cc

(c) 200-300 kg/m’ (d  2000-3000 g/cc

8 Tt Wit it < widl I U el NAfed oe Wy w2 wiige & ureaw & S S 21 Agifs 8 =g

AT

Two plates of 8mm thickness each are to be joined by means of a single riveted double strap butt

joint. Calculate the theoretical rivet diameter

@ 1242 (b) 642 ©) 1042 @ 82
Frafera derygst =1 Stiafte S w7
What is the internal angle of regular pentagon?
(@ 72° (b) 108° (c) 120° @  150°
IR FeRIviR vt At Ueh 319 Rl el S g
A solid having four triangular faces is called
() =qsHe/ Tetrahedron (b) =T/ Pentagonal
(c) ¥4/ Cube (d) =/ Square
14
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